Infinite Stage Markov Programming

A cable repair truck a power reel which when full carries 400m of cable, each
lenght occurring with equal probability. Repairs are carried out by taking new
cable from the reel unless the length remaining on the rrel is too short. In this
case the cable on theree! in removed and acrapped, a new 400m length is puto n
the reel and the repair then carried out. Detemine the mean length os cable
scapped per repair.

Answe: 400/9m

Um caminhdo de conserto de cabos, um carretel de energia que, quando cheio,
carrega 400 m de cabo, ocorrendo cada comprimento com a mesma
probabilidade. Os reparos sdao executados removendo um novo cabo do carretel,
a menos que o comprimento restante do carretel seja muito curto. Neste caso, o
cabo da bobina é removido e descartado, um novo comprimento de 400m é
colocado na bobina e o reparo é realizado. Determine o comprimento médio do
cabo descartado por reparo.

Resposta: 400/9m
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